B.Sc. (AG) Semester — 111
Statistical Methods
(AG 308)

Q.1. (a) Describe the different types of graphs.
faf= yeR & 3merdl &1 fadas BT |
(b) Explain the following:-

7 31 Sy —
Q) Limitations of statistics (i) Class interval
Aikerar & aRAmAN EUECENE]

(iii)  Cummulative frequency
NENIEIRSINGI]

Q.2. Define the different types of measures of central tendency.
bl Yghy & A= J1ai BT aREia I |

Q.3. (a) Explain the essential characteristics for satisfactory average.

HAINYUl ST b 3MaTID & qargy |
(b) What are the demerits of geometric mean?
TUIR 1T & QY 9T 87

Q.4. (a) Calculate the arithmetic mean for the following frequency distribution by short cut

method:

1 gy ARl & forg @g AT gRT TR A1 91 BT
X 11 12 13 14 15 16
F: 3 7 8 5 2 5)

(b) What is the mathematical relation between arithmetic mean, median and mode?
FATR H1ed, AIeIDhT IR 9gatd H MO AW o 87?

Q.5. (a) Calculate the standard deviation for the following table:
=1 AR & fog w9 fage @ o Sy
C.l.: 0-10 10-20 20-30 30-40
F: 1 3 4 2

(b) Explain the merits and demerits of mean deviation.

A1 fa@re @ o7 dor ]IY 9arsy |




Q.6.

Q.7.

Q.8.

Examine the dependence of shape of flower on their color from the following table by chi-
square test (x2)
B8 WharR (y?) Sifa g™ 91 ARl & e & SMBR @1 B T W FHRAT BT aieror S |

Flower color Shape of leaf
Flate curved
White 99 36
Red 20 05

[Given Tab. y7,, = 3.84]

(a) Calculate correlation coefficient for the following table:
= ARl & foy Ae—awy qolies SiTd BIfTE:

X: 25 27 28 29 31
F: 19 22 26 24 29

(b) If correlation coefficient (r) between x and y is 0.96 and regression coefficient of y on x
(byy) is 0.53. What will be the regression coefficient of x on y (b, )?

afe X Ry @1 FE—ww N (1) 096 B T Y BT X W FABA TN (by, ) 053 B o X BTy
R G o (byy,) T ST

To compare three treatments A, B and C, an experiment was carried and in CRD with four
replications of each treatment. The observations recorded are given below. Statistically
analyse the data and draw conclusion.

d STER A, B 3R C &1 ol &% &g Uh AN Al Argfodiad A¥ee (H.aR.sl) 3
TS SUAR &I IR JRERE g1 fhar war | ifaferRaa fieror i fadr 1 2| sffwst @1 wiaary
fargeryor @x frspy e |

Treatment Replications
SEEIN I I Il v
A 20 14 18 20
B 22 22 20 24
C 14 14 13 15

[Given Tab F, g 59, = 4.26]



Q.9.

Q.10.

Q.11.

Q.12.

Q.13.

(a) Define the following:-

=1 @1 aRwifa @fsre—
Q) Probability (i)  Mutually Exclusive Events
qTRremdr RER YAl ger

(iii)  Independentevents  (iv) Random sampling

EERERCCRID) Argfed ufcrerdT
(V) Coefficient of variation
foereet o1
(b) An unbiased coin was tossed 4 times. What is the probability that Head will come up

for one (1) time, two (2) times, three (3) times and four (4) times?

U& vedTa fed RI9d B 4 IR IBTal 1| 96T 9N 6 (1) 9R, & (2) IR, 34 (3) IR @ik IR
(4) IR FWR A BT WIfEHT FAT BRA?

The average length of 60 plants of variety A is 18.5 inches and that of 70 plants of variety
B is 20.3 inches. The combined standard deviation is 1.15. Test the significance of
difference between length of variety A and B.
feer A & 60 Uil @l iId @arE 185 9 T fhed B @ 70 Ul @1 203 §9 & | WIS AHD
faerer &1 w19 1.15 2| fowt A IR B @1 @aig & ofdR @1 wnefdar @l g aiforg |

[Given Tab t;,g50, = 1.960]

(a) Explain “Statistics is the science of averages.” Discuss its scope with reference to

Agriculture.

ARYT BITY "ARADT AT BT A |7 BN & Few H 39D [OKIR BT [qaa I |

(b) Explain the following:

o o e HIRR—
Q) Average of Position (i) Histogram
Refa & ey amad o

Define the various measures of Dispersion. Explain one which is most commonly used.
faergor & fafe= wrai &1 gRvTeT forRey | w9 31fdd B # 31 dTel AT &1 quiF HINH |

(a) Give mathematical and statistical definition of probability. Define independent,
mutually exclusive, equally likely and favourable events.

UIRAT @1 TR 9 WiRGHT URHT 918 | 05, IRER 3(UdSl], AH—FRIAN TAT Jdel sl
BI gRAIRT BRI |

(b) Explain the following:

fr &1 9ol PHIforR—
0] Degree of freedom (i) Level of significance
AT DT BIfS A HAT BT R



Q.14. (a) If the mean of a sample is 16.5 and mode is 15.0. What will be its median?
afe foped fcreet @1 A 16.5 & iR aga 15.0 2 I S9! Aifeget a1 srf?
(b) Calculate mode and first quartile for the following distribution:-
71 99 & 9gatd T uH AgAE @ O ST

C.l: 15-25 25-35 35-45 45-55 55-65 65-75 75-85
ERBSENE]
[HEIRSING] 04 12 36 40 10 12 06
Q.15. For the following distribution calculate coefficient of variation by short cut method:-
o7 deq & fofg fa=ReT Jones &1 ToAT TERIfT gRT Hiforl—
C.l: 0-10 10-20 20-30 30-40 40-50 50-60 60-70
ERBSENE]
f: IR 05 08 18 30 20 15 04
Q.16. (a) What is chi-square test and under which conditions it is used?
Prs—ai TRIeTor 7 g den foba aRRefaat & sgar sy fear wiar 87
(b) Change in weight after examination was observed for 1000 students as follows:-
1000 et & uRiem & U g H B 9Tl URddd 1 YR 9T TaT—
Student Decrease Increase
BRI geT EE
Boy B3 370 430
Girl wran 130 70
Test whether change in weight is independent of boy and girl?
Sitg SN, Fa1 a9 § gRads B1E 9 BT ¥ Wad 87
[Given Tab. Y§s51)=3.84 ]
Q.17. Describe the following:-

=1 &1 auie Bife—
Q) Cumulative Frequency curve
NENICIRSINGINGED

(i) Range and its coefficient (iti)  Binomial distribution
aRER Td gHBT OIH fgue faawor
(iv)  Random sampling

Irgfad gl
(v)  Additive law of Probability
UIRIdT &1 Ay g



Q.18.

Q.19.

Q.20.

(a) Define regression, line of regression and regression coefficient.
HATSTOT, AHTST0T AT T FHIST0 0Ty ] gRETST S |
(b) Two regression lines are given by:

T FEIS0 XE@Y E UaR ¥ T

x+2y=5and 2x + 3y =8
Calculate:
TOTET BT~
Q) Mean value of x and y and

X TAT Y BT ARAN AR

(i)  Coefficient of correlation

AE—HE UMD

(a) Define students ‘t’ variate, state its assumptions involved and applications.

e ‘U7 gfaeeis @1 aRareT AR | §899 IUad 84 dTell URGEIATY Joil ITARTARI qarsdy |

(b) Two independent samples of size 8 and 7, respectively have the following values:-

T TRER WA 8 g 7 AR dTel WYEl B AN HA: [ TR -

Sample I 9 11 13 11 15 09 12 14

Sample II: 10 12 10 14 09 08 10

Is the sample means differ significantly?
FT g & At # \nefe fdv 87
[Given Tab. t; o5(13)=2.16 ]

What is Analysis of variance? The following results are given for a completely
Randomized Design with four treatments and five replications.

TR faTelyer g7 2?7 IR SUERi ud ufa gARigRral @) ue yuiaar argfeed ued & e aRkomm
e gu 7|

Total sum of square = 158

Adhel O AN

Treatments totals : 85, 100, 105, 90

SUART & AT

Give compute ANOVA Table.

qof URAROT faeeryor ARl SR |



